A & o & AF & H Al A
2021 S 204 2utal
2H: C2Y
& 200 Alol4el
2 :o210 ZAFALSY
8 @212 NBRAY CLEE
SN2 Ol &k 24 B ol by HZE2
ES Al 13,011,700 6,159,000 6,852,700
S=2 13,011,700 6,159,000 6,852,700
200 Mel=+=¢ 2,161,700 2,159,000 2,700
210 BTN == 2,161,700 2,159,000 2,700
212 A3 =Y 2,100,000 2,100,000 0
212-01 T 2ME = 2,100,000 2,100,000 0
OEZMES=E 2,100,000
215 ExnF=+2 61,700 59,000 2,700
215-01 =12 3=+¢ 61,700 59,000 2,700
OEZAMEZ 1T Z 61,700
500 Ex = 3,150,000 4,000,000 A850,000
510 3 182X3S 1,150,000 2,000,000 850,000
511 208X =3S 1,150,000 2,000,000 A 850,000
511-02 2L A ELEBHEXS 1,150,000 2,000,000 A 850,000
Ox=&~3tH2t A2 H4 1,000,000
OWsSAMI 2 HEAMY 60,000
Osl&#UXZ EXAY 90,000
520 Al - SHIE X3S 2,000,000 2,000,000 0
521 Al - SHIEXZ2S 2,000,000 2,000,000 0
521-01 Al - SHIE X3S 2,000,000 2,000,000 0
Ox&~stF2 Az A4 2,000,000
600 X2 H 7,700,000 0 7,700,000
610 =LAt 2 7,700,000 0 7,700,000
613 XIGHLIIS 7,700,000 0 7,700,000
613-01 XML INISA - 2 - 2ENS L 7,700,000 0 7,700,000
2 S SHAIAPT~SHEAPTZE SAIHEEZ & 700,000
OFs 23 TANAHEZZ HE 2,000,000
ORCUM ST (LHU-MH)ALTM 2,000,000
O==2=*3&=2 4 700,000
OZEFTEMYHI Y2 EF 2,300,000
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A & 0l & AF 2 E A A
2M: E2
B goicz o CAHHECR e
oe: SXY TAAHEZZ A (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
S22 43,737,420 27,007,814 16,729,606
s 1,150,000
< 2,000,000
Al 32,887,420
T 7,700,000
292 Y TAHEEZ 4 17,477,932 8,760,371 8,717,561
s 1,000,000
< 2,000,000
Al 8,777,932
T 5,700,000
SXA SAAHEEZ W& 11,907,400 4,429,900 7,477,500
Al 8,207,400
T 3,700,000
SAEE AEAY 3,200,000 0 3,200,000
305 a2 S 3,200,000 0 3,200,000
01 &= & 3,200,000 0 3,200,000
OSHNEHEHEAY LA oKl XS= 3,200,000
SEFEMYHI Y2 SHE 3,600,000 0 3,600,000
Al 1,300,000
T 2,300,000
401 Al HI R 201 3,600,000 0 3,600,000
Al 1,300,000
T 2,300,000
01 A& HI 3,600,000 0 3,600,000
OZERE/MGHN Y2 &2F Bal(L=1
29km, 2,3 E£—3,5XZ) 3,600,000
Al 1,300,000
T 2,300,000
=282 232 ME 1,000,000 3,000,000 A2,000,000
Al 300,000
T 700,000
401 AIEHI L 20 1,000,000 3,000,000 A 2,000,000
Al 300,000
T 700,000
01 A& Bl 1,000,000 3,000,000 A 2,000,000
OS8 R3I=2 N BaH L BAHI(L=1.583
km, B=25m) 1,000,000
Al 300,000
T 700,000
2/ = SHAAPT~EHEAPTZE ZAIHEEZZ W4 1,020,000 450,000 570,000
Al 320,000
T 700,000
401 AIEHI L 2CHYI 1,020,000 450,000 570,000
Al 320,000
T 700,000




2N
X ZH -
L= B

el

= - — SHE|
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01 A& HI 1,020,000 450,000 570,000
/S BHAIAPT~SHESAPTZH 2 AHHI (L=250m, B=8m
) 1,020,000
Al 320,000
T 700,000
A0 TAHEANE(EZ)2X B4 500,000 0 500,000
401 Al HI & 28I 500,000 0 500,000
01 A& HI 500,000 0 500,000
OEIINIEY TAHEANE(ZE2)EX B4yl 500,000
sXY ZAHE 204 987,400 9,900 977,500
202 o4dl 2,400 0 2,400
01 = LH o4 1l 2,400 0 2,400
OZAAHEEZ HE HRFI 0L
600,000& » 4H 2,400
5 a2 S 980,000 0 980,000
01 tH&3S 980,000 0 980,000
OF 2= USH (Mt~ W)IHELZE XIS
3 AL SHEUI &S 980,000
401 Al HI 2 28I 5,000 9,900 A 4,900
03 Al =2 0HHI 5,000 9,900 A 4,900
OEZHEANSY AL 5,000
2SW~2ESU2 SAHECZ(H1-3-254 )& 1,600,000 0 1,600,000
802 BHEt = JIEF 1,600,000 0 1,600,000
03 JIEtErEIE S 1,600,000 0 1,600,000
O2Asw & FHE-2 AX0 @2 HHAZ2(L
=175m) 1,600,000
FAHET=E HE 5,000,000 4,000,000 1,000,000
s 1,000,000
< 2,000,000
T 2,000,000
zE-~3t2 292 AL 3,000,000 4,000,000 A 1,000,000
s 1,000,000
< 2,000,000
401 Al&HI & 28I 3,000,000 4,000,000 A 1,000,000
s 1,000,000
< 2,000,000
01 A& HI 3,000,000 4,000,000 A 1,000,000
OxF-~3td2 292 A4 3,000,000
s 1,000,000
< 2,000,000
ZEUMRII 2 (DA~EH) HES A 2,000,000 0 2,000,000
| 2,000,000
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
401 Al HIZ 201 Y| 2,000,000 0 2,000,000
T 2,000,000
01 A& HI 2,000,000 0 2,000,000
OZ&EUHRIEE ALHIZMN SXE B4HIS(
L=6.4km) 2,000,000
T 2,000,000
NHEN0IE 243t 430,657 195,871 234,786
AAENNEE 29 219,597 21,321 198,276
201 Let24dH] 213,522 11,926 201,596
01 At 22/l 4,516 4,046 470
ONMENNEE B4 2
50,0003  30MIE 1,500
O=EMEXNFY 22,0003 = 424 « 128 1,056
OSA EWZY 200,000& = 1CH = 33l 600
OZglE 93¢
60,000& = 15 * 201 * 43 480
O&=2J| ZH sX2e2ltl
70,0003 = 1CH = 43 280
OENzd 22 MA
300& * 1,0002 = 23] 600
02 =24l 209,006 7,880 201,126
O&ot=ER= 40,000& = 12& 480
ORI AHIAAE 99,000&  12& 1,188
OXR&EN wsd BEIMHY (i, ARUEEF) 4,000
OANQIHA K& 2 It (FE 0l &) 200,000
OXNAEN A 2 2H(REE L HHE)
20,000& = 70CH 1,400
Ost&EA 25 =& 124,000& * 123/ 1,488
OXNEAN nEed 2AX 7¢ 15,0002 * 30H 450
206 M= Hl 1,600 1,600 0
01 =8l 1,600 1,600 0
OOIMIEH =225 40,0008 * 10CH = 43 1,600
301 LeEBAF 2,475 3,795 21,320
09 #HALAHIXI A3 2,475 3,795 21,320
ONEHWA XJESAX XNES
11,0008 » 1¥ * 353 * 3¢ 1,185
OO0IMIEANME XNEASAA XNES 1,320
307 glz2tol & 2,000 0 2,000
02 It HAHEE 2,000 0 2,000
OdiXt&ENH ol Bx3 2,000
NEHEZ FHI 201,000 158,150 42,850
401 Al HIZ 201 8] 201,000 156,350 44,650
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2 AEHOIE &4t (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
01 Al&H| 200,000 155,000 45,000
OXNEH OlAIEES 228X 24 (L=258km) 200,000
03 A& E2HH]| 1,000 1,350 A 350
OXNEHEZ HHl AIE2UH] 1,000
AEE NEAHBZAILE 24 10,060 16,400 N6,340
201 gBt24y| 7,560 8,400 A 840
02 2% H| 7,560 8,400 A 840
OH&EIIR2 50,000 *« 30 A + 12€ 1,800
O&FE3N L 2AHYANES
160,000 = 3 & = 12&€ 5,760
401 AlEHIZL £ 0HY| 2,500 8,000 A5,500
01 Al&H| 2,500 8,000 A5,500
OZEE B8 S22 (3MA) 2,500
=S A 22| 139,875 134,600 5,275
2 S Ma 22| 139,875 134,600 5,275
201 et | 32,675 27,400 5,275
01 AP 2t 2] d| 32,675 27,400 5,275
OE2EHAEZI SI2 15,0008 = 250A 3,750
OZ28/ A 542 500,000 = 20A 10,000
OBFMA AEHXAF S5
15,0008 * 19JHSHS * 54 1,425
ORH4dER EX 28 AX
100,000& = 5004 5,000
ORY0ISE Bay? 43 23 2 322
500,000 = 524 2,500
ODISIIEXN AKAUOE AS BSA 482
2,000,000& = 5A 10,000
202 o4l 4,200 4,200 0]
01 2Ll 4,200 4,200 0
OEZME HAEX BASEO H4L2F=X0NH|
600,000 = 7Y 4,200
203 R F & 3,000 3,000 0
03 AIZH =X 2 =X H| 3,000 3,000 0
OE2HE 2 EH &8 =& 3,000
305 HHAZ2 S 100,000 100,000 0
01 HIASS 100,000 100,000 0]
OFY0IS=2 Btstd A S HHAS 100,000
sECZ FUHAMY 4,708,400 762,400 3,946,000
Al 2,708,400
TH 2,000,000
25 =s=EE 2 HUAY 50,000 60,000 A 10,000
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st HE sHEZZ(2Z2065H) && 50,000 0 50,000
401 Al HI K 201 I 50,000 0 50,000
01 A& Bl 50,000 0 50,000
OStd 45 sHEZ2(2Z20684) & =
AtHI(L=80m, B=10m) 50,000
SHXY ZAAHEEZZ 4 4,658,400 702,400 3,956,000
Al 2,658,400
T 2,000,000
A el SAHEEZTZ(S1-654) 4 690,000 650,000 40,000
401 AIEHI L 20 690,000 650,000 40,000
01 A& HI 690,000 650,000 40,000
O el SAHEZZ(Z1-654) B4t
2 Z At (L=180m, B=20m) 690,000
Feed-2s2&2 TAHEZ2(U1-3-384) ML 711,000 0 711,000
401 A& HIZ 201 8] 711,000 0 711,000
01 A& HI 711,000 0 711,000
OS2 &4l (L=1.04km, B=35m) 711,000
qs 25S TAAHEEZZ(L2-2168H) A 2,000,000 0 2,000,000
T 2,000,000
401 AIEHI L 20 2,000,000 0 2,000,000
T 2,000,000
01 A& Hl 2,000,000 0 2,000,000
O 44l & ZABI(L=1,7km, B=10m) 2,000,000
TH 2,000,000
85 RAN~2HEOR SANHECZ(F2-154) & 500,000 0 500,000
g
401 AIEHI L 2 CHYI 500,000 0 500,000
01 A& HI 500,000 0 500,000
O3 AttI (L=500m, B=15m) 500,000
S8 ZAAHEEZ HE 7,400 2,400 5,000
202 o4l 2,400 2,400 0
01 = LH 4 Hi 2,400 2,400 0
Os&&2 ERFANYI 600,000& * 4% 2,400
401 A& HIZ 201 Y] 5,000 0 5,000
03 Al S THHI 5,000 0 5,000
OEZHEAME AEFUYI 5,000
Aoisdy AgE=2 HH] 750,000 0 750,000
401 A& HIZ 201 8] 750,000 0 750,000
01 A& HI 750,000 0 750,000
OE4&Hl 2 = Atdl(L=220m, B=10m) 750,000
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Ol TRos U el (el @2)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
S22 A 22 8,552,953 8,853,758 A 300,805
Fag 150,000
Al 8,402,953
e = U | 78,963 74,994 3,969
WEXIAL & X 76,523 73,092 3,431
101 e1214| 67,523 73,092 A5,569
04 JIZtHI22NEE S 67,523 73,092 N5,569
OULESFT ALY ol AHH|
72,480 * 7859 x 1Y 56,897
OLNEHEZAIY S4H 8,000 » 785%H * 13| 6,280
OLNEHIZTANH B&2 56,885,714 * 3.5% 1,991
ONEFX AR 2HAH| 3,000 * 785YH 2,355
201 Bt 49 ]| 9,000 0 9,000
01 AP 22| H| 9,000 0 9,000
OnNsSsXTA &2 & Hols &
60,000 * 10004 2 6,000
OQUEEXEAI AIRES U]
30,000 = 10004 & 3,000
cCzae 29 2,440 1,902 538
201 et 9| 2,440 1,902 538
01 AP 2t 2| bl 1,000 462 538
OL&EA & LAMNIS SEH0HH AEIH HE
200& = 5,0008 1,000
02 2%l 1,440 1,440 0
Ozl SUHE MES
40,0008 = 304 *~ 128 1,440
SC2S X &2 6,090,400 6,661,724 AB71,324
TC2S X e 2,520,600 2,941,924 N421,324
201 et 11,580 12,315 ANT735
01 AP 2t 2] d| 2,630 5,360 A2,730
OEz&2IMNYAJSG =
70,000 * 7¥H x 23] 980
Aolithdl E2 849 M
55,000& * 3004 & 1,650
02 2324 8,950 6,955 1,995
OEzHHIE EUHE MEZ
40,000 * 304 = 12& 1,440
OA&EZH KX 22 7,510
-T2 EXTH SFUH(HII,MEXE, AT
|, 2EE) 3,480
=l 1,344 « 202/ » 36Y 968
= R 1,147& = 302l * 73 2,512
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SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
- JIEel #Hl |4 1,000,000& = 2CH 2,000
-E2E X S| 1,000,000& = 2CH 2,000
—Me JOX =222 2,450 x 1201 & 30
202 04| 3,600 3,600 0
01 2LHOHI 3,600 3,600 0
Oz &2 gRF=XAH| 600,000& * 69 3,600
206 M = Hl 132,420 186,361 AN53,941
01 = bl 132,420 186,361 N 53,941
OEZ2ELHZH & MYy 132,420
-YIX2 4,000& = 80H 320
- & 8,000& = 4004 320
-4 6,000& = 804 480
-HoYs 2T Y
40,000& * 250m" = 40H 40,000
~N20AR D (YWE)
11,550& * 6,000 69,300
~420tAR PY(L+ESB)
22,000& = 1,000% 22,000
305 HHAa=2S 10,000 50,000 A 40,000
01 HA 2SS 10,000 50,000 A 40,000
O=3ItaASE =2 10,000
401 Al HI L 200 2,363,000 2,689,648 N 326,648
01 A& HI 2,340,000 2,620,000 A 280,000
odsktz&Ex 2,000,000
OaSES=XSE i JH& A (L=10km) 300,000
OHlg®H ot X2 A (6000 A) 40,000
03 Al& 201l 23,000 69,648 N46,648
OEzEs SIXNE Xz 20,000
O 222 AtY AlZ =TI 3,000
OIEAX ¥ A 1,969,800 1,369,800 600,000
101 @121l 66,800 66,800 0
04 JI2ZtH 22 XNEE 66,800 66,800 0
OeledH HEMA 22 (L=386km)
66,800& * 5004 * 22| 66,800
401 Al HI L 20 HI 1,903,000 1,303,000 600,000
01 A& HI 1,900,000 1,300,000 600,000
OelE &x ¥ AH|(L=7km, B=1.5~3m) 900,000
OZE95 6 I XMHl 2AHI(BESEEHIMA) 1,000,000
03 A& 20H Y| 3,000 3,000 0
O&: &AX Y bl AIE=20UbI 3,000
T&aECE S22 1,500,000 2,300,000 800,000
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401 Al HIZ 201 Y| 1,500,000 2,300,000 800,000
01 A& HI 1,500,000 2,300,000 A 800,000
522 MHEE ZAH(L=60km, B=3~23m) 1,500,000
ZOHQ EHSHA o 100,000 50,000 50,000
401 A& HIZ 201 Y] 100,000 50,000 50,000
01 A& HI 100,000 50,000 50,000
OZOMQ EHEH MW ZA 100,000
AAsxtusztel HEAY 900,000 585,000 315,000
s 150,000
Al 750,000
WEAD 2 2 ALY 120,000 0 120,000
s 60,000
Al 60,000
401 Al HIZ 201 8] 120,000 0 120,000
z 60,000
Al 60,000
01 A& HI 120,000 0 120,000
OunsAD 22 HEAMS 120,000
s 60,000
Al 60,000
Helol Es29 w22 600,000 585,000 15,000
401 AIEHI L 20 600,000 585,000 15,000
01 A& Bl 600,000 585,000 15,000
O0gol E5+9 AIEEH & SHSUHAAE
= Al2el 600,000
SMWIE XA 180,000 0 180,000
s 90,000
Al 90,000
401 AIEHI L 20HYI 180,000 0 180,000
s 90,000
Al 90,000
01 A& Hl 180,000 0 180,000
O™z XA 180,000
s 90,000
Al 90,000
CEZANES RA2L 1,483,590 1,532,040 A48,450
ANEES RX2e 886,590 1,039,040 A 152,450
201 £B-2%H| 20,590 20,740 A 150
01 At 22l 17,300 18,400 A1,100
O&EIIAE etz HHEA(EY XA =2
9 &) 16,600
OZEHEAEE =& 70,0008 * 5% = 23| 700




2N

X ZH
S =

el

T2
2R 2l
SZANES S22

= - — SHE|
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02 3322l 3,290 2,340 950
OHIAL-LWMNAEZ HBOZE d23ld L 2FH
94 23 120,000& = 12 1,440
O74=wel 4010 HANESRS 600
OS2Il ZIGHIAMN =2
250,000& * 50 A& 1,250
202 odl 3,000 1,800 1,200
01 = LH o4 1l 3,000 1,800 1,200
OEZAEE JRFTHHI 600,000& = 5H 3,000
401 Al& I & 28I 863,000 1,016,500 A 153,500
01 A& HI 860,000 1,010,000 A 150,000
OANEE HIIGHEE A (22901 2) 40,000
OEZANEE FLUrNMAH (130 ) 320,000
OZZAEE RN (240 ) 500,000
03 A& S THHI 3,000 6,500 A 3,500
OAld 2 FHl Ad=20YI 3,000
OHMAIEE SR 2el 351,000 351,000 0
401 Al BIZ 201 8] 351,000 351,000 0
01 A& HI 350,000 350,000 0
OZZFAEE RABESOIEH Y HA Set
c,El® 8) 350,000
03 A& =2 THHI 1,000 1,000 0
OSEAIZE EHl AIE=20UHI 1,000
8= HX2c 41,000 24,000 17,000
401 AIEHIZ 28I 41,000 24,000 17,000
01 A& Hl 41,000 24,000 17,000
OFLESA (RN 4HL) 20,000
O3 |RAEs 8A(PASN 444)
350,000& = 54 * 12 21,000
E2Y HEXE HHAZ 205,000 0 205,000
401 Al& Bl 28I 205,000 0 205,000
01 A& HI 205,000 0 205,000
OE2Y% HEX® FHumg(Hoithz EX® F
gl 14)) 205,000
HE2AHU(Z2 ) 929,348 962,485 A 33,137
el 2| 831,415 810,125 21,290
ol 2l 831,415 810,125 21,290
101 1A bl 831,415 810,125 21,290
03 RIAHAAZZHE > 831,415 810,125 21,290
OE=ZHHI& 212Ay| 797,015
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I HYSYIU(ZED)
chel: ol gyl CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
-Jl2s 2,558,300& » 17 » 128 521,894
- Z UGS A 140,000& » 17 128 28,560
-HIS2H03 972,333 » 179 16,530
- AR 145,000 » 17%H 128 29,580
S ECEE RS
20,9703 = 14A12t ~ 16Y ~ 128 56,368
-guaesy
20,9703 = 16AI2t ~ 16Y = 128 64,420
RGN
2,843,300% /209 * 8AIZt * 17 = 7 12,952
- Y EFOHl 2,558,300& = 17 » 1.2 52,190
-tE=g 71,180& = 178 » 123 14,521
O 2 JHl& 1=l 4,950
-22=(s.%5) 250,000& * 159 3,750
- & st 50,000& = 159H 750
S EY 20,0002 = 159H 300
-&gz 10,0008 * 159 150
OS2 FHIA SAHI
8,000& = 103 = 15H » 123 14,400
OEzZeld 1=l 5,450
-2RE(s-08) 250,000& = 109H 2,500
—-ge= 220,000& = 109H 2,200
— QM B} 50,000& = 109H 500
-9 25,000& = 109H 250
Oz el SAHI(ME, 02, F2E)
8,000& = 103 = 108 » 12& 9,600
Jl= &l 97,933 152,360 NB4, 427
o= | 97,933 152,360 ~54,427
201 £B-2dH| 46,753 46,100 653
01 At 22l 46,753 46,100 653
OO0kt & S22 2L SAHI
650,000 = 269H 16,900
OSAD| LRz (58, 2Zet)
380,000& = 123 4,560
OZEE EU (e, &) 451,4403 = 123 5,418
O=ALEXI (A4, A3) 47,7503 + 1004t Xt 4,775
OAME ESHI 9,100
OJIEt =&H| 6,000
202 4l 43,680 97,920 A 54,240
01 = LH o4 1l 43,680 97,920 A 54,240
OLBs JIE2d: =0l
140,000 * 26 * 123 43,680
203 IR E= A Y| 6,300 7,140 A 840
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